Installation Manual
Radiator Protection 2111.9516.1/2333.9516.1 03 RIVAL

WWW.RIVALAUTO.COM
Brand i Model i Year i Engine i Gearbox i Drive
TOYOTA | LANDCRUISER150 |  2009-2017 | 2.7;2.8TD;3.0TD;40! Manual; Auto | AWD
| PRADO | 2017- | 27,40 i
LEXUS | GX460 ' 2009-2013; 2013-" 4.6 ’ Auto | AWD
OE fittings
Bracket 1
Skid plate OE fittings

Cap
Bracket 2

Bolt M10x30

Washer 30 OE fittings

\ \

Installation Instructions: Content: !
1. Remove OE skid plate. Name ' : QTY i Torque

2. Mount Bracket 1 on holes (A) using OE fittings. | |
3. Mount Bracket 2 on holes (B) using OE fittings. BoltM10x30; 5Pcs. 1 47.0Nm

4. Screw in bolts M10x30 in to Bracket 2 for a few turns. Washer M10 1 5 pes. !

5. Mount rear part of skid plate on installed bolts M10x30, front part of skid plate mount on Bracket 11 1 pe. !

bracket 1 using bolts M10x30. Bracket2: 1pc.

6. Tighten all screws with required torque. Skid Platei 1 pcs. |

Capi 2pcs. i

1

1

1

1

Tech support: techsupport@rival-europe.com




